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Quiz 7, November 15, 2023

Find one particular solution of
2y′′+4y′+7y = x2.

Answer: We look for a solution of the form y = Ax2 +Bx+C, for some numbers A, B, and C. We
take derivatives of our candidate, plug these derivatives into the Differential Equation; and see what
the constants A, B, and C must be. We see that

y′ = 2Ax+B and y′′ = 2A.

Plug the derivatives into the DE:

2(2A)+4(2Ax+B)+7(Ax2 +Bx+C) = x2

7Ax2 +(8A+7B)x+4A+4B+7C = x2.

We want 
7A = 1
8A+7B = 0
4A+4B+7C = 0

Thus,

A =
1
7
, B =

−8
49

, and C =
−28+32

343
The function

y =
1
7

x2− 8
49

x+
4

343
is a particular solution of the differential equation.


